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Mazen scored 4 goals. Nasser 81 dilaal g el o ditaal 4 O3l Ja
scored g more goals than Mazen. <oy (g Al alaSul Huasd IS LGl e
Write an expression using the i Ll e AN Gl ax

-----

variable g, to find the number of =~ - -.

goals Nasser scored. ~ -~ .
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Which of the fpnowlng is NOT a

radius of the éircle shown?

CRiuall B8 A il g sad b Laa g
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Multiply. Write in simplest form? 5) pa b
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Which is the correct expanded form

for 153,0977?

(O100,000 + 50,000 + 3,000 + 90 + 7

(O 10,000 + 5,000 + 300 + 90 + 7

O 100,000 + 50,000 + 3,000 + 900 + 7

(O 10,000 + 5,000 + 300 + 900 + 7

£153,097 all dncesall disall 4 L



Determine the true statement.

() 43.04 < 43.99

()43.04 < 42.44

() 34.04 < 34.004

(043.004 > 43.4

Aassall 3l als
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What ordered pair represents point D A5 o D ahaill Cigall g3l Jia 1ile
on the coordinate grid? T B RO L T I et
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O | 2345467

O (2,5 a
Q65,7 b
O (5,2) x

O (3! 1) d
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What is the outlier?

0ah il dasd!l L

Points Scored
Leaf

N,

5]2=52

Aloul ! ool
il , gl
2235679
13555788
1344
2

s|2=52




I 2adl aloSuad U oad o

The line plot shown the prices of hats. Sl Avaaal) BUEL Al Jial g
Find the median of the data. N LS SRS (RPN PER PR 11
( Prices of Hats N o Eilaad sLawd !
X X
X X X X
X X X X X X § )).E § §
X X X X X X X X X X X X
| |ttt
30 35 40 Y5 50 55 60 &5 70 75 80 30 354045 50 55 60 65 70 75 80
" Price (AED) ) | (AED) yetusisd )
O 75 a
O 40 b
Oso ¢
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What is the outlier?

Suown

-

Stem

Points Scored
Leaf

223569

1365655788
1344

(N

5|2=52
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Write % as a decimal. (G S By g B % i)



Find the prime factorization of 42.

ANl alelgel sanll Lo

A Jalgad) N 42 sl Jala 7306 asl



‘ e | - s P
How many minutes are in 3 - hours? faclu 3 s S8 A S

O 200 2
O 195 b
O 100 Ke

O 210 d
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What is the volume of the prism? ¢ asdiiall aaa La

15 m

0O 1,800m3 a

O1,500m3 B
O 1,000 m3 c

01,200 m3 d
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A flower is 9% cm tall. In one week, it ubw‘@a&.gé cm 3R} Job i
grew 1% cm. How tall is the flowerat  fgsull A4 5 Ba3l Joh L .1% cm k.
end of the week?
O BE cm .a
8
7
s b
Q1o 5 cm
4
10— .C
O105 em
2
_ .d
o 84 cm



g b Bacld &S
Which pattern follows the rule Baclal &b b Las Bl u"
“subtract 3, add 67 "6 ul“'l’ 3ok

O 18,21,15,18,12 .a

(O 18,24,21,27,24 b

O 18,15,21,18,15 C

O 18,15,21,18,24 d



Find the mean of this data set.
14,21,18,18,12,7

) de panad (lad) Jacgiall 2yl
14,21,18,18,12,7



Circle the quadrilateral that have all walss aan 4l L_g&.‘n &M?& g.ci:g JSd b

the attributes of a rectangle. Judaiacall
O Craeald)
rhombus
gl
square

gyl (Slgie

parallelogram

Ciaiall Aud

- trapezoid
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For a school assembly, students sit e Ao B alas cAwaall plaal 2
in chairs that are arranged in 53 JS b 1inda 12 2ag Aia 53 o il ja
rows. There are 12 chairs in each foaslall agifar Gudll MUY s B | Lha
row. About how many students can

be seated?



